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VI Semester B.Com.3 Degree Examination, May - 2019
MODERN AUDITING AND PRACTICES
(Regular)

Time : 3 Hours Max. Marks : 80

Instructions : (1) Answer all the sections according to internal choices.

(2) Section D is compulsory.

xeedneh : (1) &o36F efaiogn’ 2.TTED) DR DgINNSIT eVIOA.

(2) Dgen — & JEOr® SFODIT 5630 QHTNE,

SECTION - A/ dor — &

1. Answer any ten of the following : 10x2=20
FINSRINYY Wewn TR TJAONR WwIDA0.

(a)

(8
(h)
(i)

What is meant by statutory audit ?

aa%éwc:é esgwomem:s DOTBERD 92

Define auditing.

SO RerEIoD waésﬁs WTON0.

What is final audit ?

90330 esgmmeas QOTTeR 9?

What is meant by Internal Control ?

80308 J0N0IED DOWTET ?

What is meant by Audit note Book ?
6@336&@«;523053 ¢33068 THT ROTTEZ ?

State the difference between vouching and verification.
Q,RTORT TB TOSewINONNSH B SPAD.
What is meant by qualified report ?

YBemRY TVOD DOWIE 7

What is meant by Capital Reserve ?

WORWOY AR NOWTEeD ?

What is cost audit ?

) e?@a;’b&raecﬁé QROTIBED ?

What is test checking ?

sodoh FTRF oW ?

| {3
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10.

(k) State the two objectives of internal audit.

$030% ass‘,’mmw:sw WO m%@ﬂ#i&d 39A0.
(I) Expand: (i) ICAI (i) SAP

WROAO @ () ICAI (i) SAP

SECTION - B/ — @

Answer any three of the following : 3x5=15
Wews St TJNROR YVIOA0 :

What is interim audit ? Explain its advantages and disadvantages.
E\aierle d%ﬁbé@@é QOTBED 7 VW Todeews B Qi.@f&‘)ﬂ%"d)ﬂl RNWORD.

Explain the objectives of verification of assets.
BANY TOedeOTOD T BRI, DWOXD.

What is internal check ? Iixplain the advantages of internal check system.
©0307 T3P TPS 20TTeH 7 ¥TT JodRewINI, DTWORD.

Explain the features of audit report.
JHOBReFHOD TOOHOD VFLNYI), DWOAD.

How do you vouch the cash purchases ?
JINTH VOO, Tert T RTORDD 7

SECTION - C/ Qort - @

Answer any two of the following : 2x15=30
Bewn ST TFRYR YLZORD :

Explain the rights and duties of Company auditor.
20T FOTD STHOBRCTFTINHT TRNAW WH) BIF BAII, WTOAD.

What is meant by continuous audit ? Explain the advantages and disadvantages of
continuous audit.

FAlefolcle] e%ﬁadomeﬁé ROTTERD 7 VTT LDIROY WP WTORBRVING, DTORD.

How do you verify the following ?

(i) Land and Building (i) Stock-in-trade (iii) Sundry creditors.
=1 6@?\5@#%’»& e WOSeON0 ?
(i) e DB LW (i) TPFRIND (iif) B FTITT

What is unqualified audit report ? Draft the specimen of unqualified audit report.
SiLuelo 6%&0%@@3 WID Q0T 7 BFeTIEZ STHOZRFIOD TRWO FSLOHI,
303500AD.

AR ANV
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SECTION - D/ Q%en — &
Case - Study (Compulsory) 1x15=15
TFTEo VPN (B ohTeNnTs)
11. The following transactions were wrongly recorded in the XYZ Co. Ltd. Hubballi.
(a) Credit sales of ¥ 20,000 wrongly recorded of ¥ 2000 to Customer account.
(b) Purchase of machinery worth I 50,000 is recorded as cash purahase of goods
(c) ¥ 5,000 phone bill paid is recorded in salary book.
(d) Cash purchases X 24,000 has not been recorded in cash book.

(e) Credit sales of ¥ 20,000 to Mr. Shridhar is entered in the sales book twice.
As you are an auditor, answer the following questions :

(i) Mention what types of errors are committed.
(i) What action will you take to rectify such error ?

X.Y.Z. 303D Q00N WY & FYNT BRITICNEY IoN SBRTICIPNTOZH.
(a) ©vG [T 20,000 T, =T BAFRY 20003080 SN TDROFTONT.
(b) oPoBpeTETe VOB 50,000 B, FTRNAT INW DOHONY JTRHFITONT.
(c) T5,000FHeea® VO TR SPIYI, FeII B OBFTIY IWRORTINT.
(d) 24,000 INT DOOONT, INTD TIFEY ITPOZTRNG,

(e) & 3o ©|OR T 20,000 ¥0B, [PTPWBWIY, WPV WITBY HTBD IO
SERBESRNT.

Dexy) 2wy STTOBReFITON B3 FINT JIRVR YZOXD :
() OIRT ITT IWAW TOPIAN ?
(i) TR FoWOHAT ITNTI, Jert STHNTB TIWNO ?

-00o0-
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VI Semester B.Com.2 Degree Examination, May - 2019
INDUSTRIAL ECONOMICS
[RCU Syllabus Regular and Repeaters]

Time : 3 Hours

Instructions / ZREIN

(1) Al sub-questions should be answered at one place continuously. Quote facts and figures to support.
DR WIZITYNT aode FET VST WIAWO. Y¥RDFE S0 BOITHRODT X VIO,
ADPFAO.

(2) Answer to all sections should be written in the same answer book.
DR DGIRNNY QVITNTIRX, 20T ST TFIFADY 2T0N0.

1.:5. (@)

(b)

Max. Marks : 80

SECTION - A / Q%R — &
Answer any ten of the following questions in 2 - 3 sentences each. 10x2=20
BINT Bewow TSy TINON 2-3 WZNTGY W0B0A.

What is Industrialisation ?
303300 DOTTE 9

What is liberalisation ?

YVTIDOCTTED DOWTET ?

State the meaning of MNCs.
u&’bm%eodc TOWINY WP FRPRO.
What is vicious circle of poverty ?
REIIT DTRWT, 0TI ?
What is Capital Output Ratio ?
ROWY YUBE T DOWTER ?
What is meant by e-banking ?
YLROIOTT Q0TI ?

P10,
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(8

(h)

@

()

(k)

)

State any two importance of small-scale industry.
23g i%maio:b SRRTE HTH BDBINTI, SYAD.
When was first industrial policy introduced ?
TP ﬁémow e 03T NRE 230N WO ?
What is the industrial location ?

sdmbﬁ :i# ARBeFIT 0T ?

Expand FEMA.

FEMA Q%08 w3c0.

Give the meaning of B,B and B,C.

B,B &3 B,C ¥ OF B, 3RRO.

State the meaning of EXIM Policy.

BT (EXIM) dedod ©TF HePO.

SECTION - B / Q%R - 2

Answer any three of the following.
39N BB RTE YOZOA.

2.  Explain the role of public sector in the Indian Economy.
HO0SE BHFT30NY FRFHRIT VOO TOZHRY, WHOA.

3.  Explain the advantages of MNCs .
WIBTDEEOD BOTANY LRIRVINYI), DWOAD.

4., Examine the main features of Industrial Policy of 1956.
1956 T 3wdTe Jedod T@ND ogenva), T0SeORD.

5.  Explain the present problems of small-scale industries.
233, édmbér(%? TAZ FZDANRYIY, DWOAD.

6.  Describe the current EXIM Policy of India.
HRUE 9dewsd SR DB, T, DedodI, PNWOA.

(RN

3x5=15
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SECTION - C/yert —
Answer any two of the following. 2x15=30
NS s AT TIRIR BZORO.

7. Discuss the factors influencing industrialisation in India.
Apletcte %moaesmw e Tpom VR @0371#6)01 23237 20.

8.  Critically examine the Alfred Weber’s theory of industrial location.
STPE BT §redw A PeIORT ATROIT), t3e50ITm0N TOSLIRD.

9. Explain the main features of Industrial Policy of 1991.
19913 3wo%e Dedod T SFNTIH, DTOAD.

10. Explain the various sources of industrial finance in India.
LT3 %dmbﬁ DOTAT DG ab.raeme:abd WRWORD.

SECTION - D/ Q%en — &
11. Case let: 1x15=15
33 QTFERT :
FDI plays on important role in the industrialisation of the Country. India has
encouraged FDI after 1991. It bridges the gap between desired level of investment and
domestic savings. It generates employment in new sectors. Consumers get quality
goods at competitive prices.

Questions :

(@) Whatis FDI ? 2
(b) What are the advantages of FDI ? 8
() How India has benefited during the last 20 years due to FDI ? 5
Be3T gModsessnnd 2.3¢.8w. (FDI) YZ03 DTIT WZRLAW. 19917 FoIT
P08 F.B.2. 1} wveess eRT. QT @a)’egs BB BRRE ) Dedeod vPITVODNY
VOITRI, DoNW. D BRI BOHNREY WBREN FA BRW.  OSoLIReNTT
k;mr@S&s BSnen PO NIk umjm& NF.B.0. HoT mdm&m%aomnd.

TIed

(a) NBed 30 BB 0TI 7 2
(b) «F.R.R T IDZROIRTIR)) ? 8
(€) D.Je.mR. ONOT 3T 20 IIFNRY OBEONY TS Berd Todeexd TBOF 9 5

-00o0-
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VI Semester B.Com.2/B.Com.3 Degree Examination, May - 2019
INDIAN FINANCIAL SERVICES
(REGULAR AND REPEATERS) Elective Paper - III

Time : 3 Hours Max. Marks : 80

Instructions : (1)  Answer all the Sections with the given internal choices.
H030F Cfafa,}/‘f?/‘f GFTED) TR DEINTTTL, SVSOA0.
(2) Use of non-programmable calculator is allowed.
T TR )T 5 LR TeET QVTIRENTFLIEBED.
(3)  Question No. 11 (case study) is compulsory.
T 11 sEgel (F5ore SFgab)

SECTION - A/ %on — @
1.  Answer any ten of the following questions. 10x2=20
FINTIPYNIY Besm TTF, YuZOA0.
(@) Write any four examples of Financial Services.
TBERTOAD ACWNY CIRR)TOTTN SRV wm&d:‘éﬁ@&d WTON0.
(b) What is Loan Syndication ?
TOOT BRE TWI 0TI 2
(¢) Define Merchant Banking.
VIFT W0 ., WIAWO.
(d) Define Leasing.
rieedodd w35, 2TOW0.
(¢) What is Domestic Lease ?
Tedod 1ieed ROW3eD ?
(f) ~ Write any two Factoring Services.
FRFOONT FePodh HTB NWRTTHRNYR), WwIed.
(g) Define Forfeiting.
PoTHersoN” w93 VeRO.
(h) Define Dematerialisation.
0P SeTTLT méa% eRO.

PT.0.
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(i) What is Demat Account ?
BT 08 0TI 9
() What is Rematerialisation ?
WL SeTTR ROTTER ?
(k)  What is Credit Rating ?
BWET Beed QowTeD ?
() Expand :
NROY W3O :

-0

() NSDL (i) CRISIL

SECTION -B/Q%en - @
Answer any three of the following questions : 3x5=15
FINSPYNYY Besem Ty wZDAD.
2.  Briefly explain the Fee based financial services.
DY, THOOT TETOAT FERNYDY, Fo3TemeN DO,
3.  Distinguish between Commercial Banks and Merchant Banks.
0Ed%, WRORNW BB TIFT LRONNY IBIT BIIANI, 2530W0d.

4.  Distinguish between Financial lease and Operating lease.
BromoT Tieed 3, PRRFIE RednvYI BI/ANT, $920.

5.  Briefly explain the conditions required for registration of Merchant bankers.
WIF3 w0300 JR0TEBCIPHLY LeTmdE YBBT VOFRTY), HOFTWON VFOAD.

6.  What is Online Trading ? Explain the features of Online trading.
IF S HeROT Q0TTeDH 7 BTWT OFNYR, $9AD.

SECTION - C/ Qwon — 3
Answer any two of the following questions : 2x15=30
ENIPNYY Bewd ATRS, YwIOR0.
7. What do you mean by Financial Services ? Explain its importance.
BEOTOAT AN Q0TI 7 LHNY TP, DBOAO.

8.  Explain the General obligations and Responsibilities of Merchant bankers as per SEBI
Regulations.
AW DODTRWYODFOD [IFT ROTONY FWBPT, waERLONH Tene WIBNYI,
QWOR0.

AR AT
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XYZ Co. Ltd. has received the lease proposal from Pavan Co. Ltd. The following facts
relate to lease proposal :

(a) Cost of the machine ¥ 18,00,000.

(b) Lease period 5 years.

(c) Salvage value after five years ¥ 1,00,000.

(d) Cost of capital is 16% p.a.

(e) Tax rate applicable is 30% p.a.

(f)  Lease rent X 5,00,000 p.a.

Additional information :

Year Depreciation (%) P.V. factor at 16%
1 4,00,000 0.862
2 3,10,000 0.742
3 * 2,30,000 0.641
4 1,60,000 0.552
5 1,10,000 0.476
Compute :

(1) P.V. of cash inflows.
(2) Isit financially profitable for leasing company to lease out the machine ?

XYZ 30. QoNNSTHD TPy FO. 0NN 9R00T Bf_unofn nee3o Wﬁé&b&a
TROWYT. Rerd FoWOoHAT FTOF LOBNh B3 FYNT0SE :

(a) woH =Pe, T 18,00,000.

(b) recdod BB 5TREMD.

() 5=T/EAY JoIT e TP, X 1,00,000.

(d) woRwdE [eg Jevwo 16 BRFT,

(e) 30 TT Besmo 30 [HFE,

(H eean T 5,00,000 EJJ"WJF%.

Q30 RS :
RRE =89 R) 3e3wo 16 T 3RST WOWO3
710 3BT IR,

1 4,00,000 0.862

2 3,10,000 0.742

3 2,30,000 0.641

4 1,60,000 0.552

5 1,10,000 0.476

S5 DR :saaoaodoab& BB RCFL, BT ﬁdsd wmwmﬁ{ BORLHBONO Tomw es;’_opo\bm&
Needn VERRPT oL ToodTIE ROLRTZ), SYAD.

What is factoring ? Explain the advantages and disadvantages of factoring.
mszeorf ROTTED 7 HTT OPINROINRLD Tonwe @mmﬁmoéﬁvm‘{ RTWOXD.

AR TR GO P.T.O.
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SECTION - D/ Q%o — &
Case study (Compulsory Question) : 1x15=15
TITED €:9C,$50:b§ (zTmRO® @;—3%) :
11. (a) Mr. Abhishek has 200 shares of a company. He wants to get them into electronic

form for easy transaction. As a financial advisor explain the benefits of
Dematerialisation.
(b) Describe the process of Dematerialisation.
(¢) From the information given below. Calculate the cost of factoring without recourse.
(i) Annual Sales - ¥ 40,00,000 of which 80% is on credit.
(i) Average collection period - 30 days.
(iii) Factoring fee of 2% plus a commission 4% on total amount of debt plus
1% Delcredere Commission.
(iv) A factor is willing to advance 90% of credit sales.
(v) Management costs saved due to factoring is ¥ 24,000 p.a. and a bad debts
at 2% on credit sales.
() 3 wR3eTT TET 2.0TH FOTICH 200 JeHNYI. JeTONT WL, AOLNRPILD
oHh 3, Feoor 9, ©EREeT TRWY TMoFodABRTLD WODATT. e 2.)

Q

BEITORD #oé'odmﬂ Seoon¢ wwvéeﬁdraw 03@€u€o“r‘e§a‘>3 S0,
(b) 3eTNY wPsesTe TIODHODI, $YAD.
() 8 IPNT FB&SCP N'?cmt:)m DWFCIT FTRIOOM WEWR, TOBWERRAWD.
(i) saF? =Poow X 40,00,000 3WIY Sesmo 80 TR, WVTD WITVE.
i) RO WRROOH BTG - 30 HINH.
(i) *‘oﬁOo:\ DY, Fezwo 2ToNR Wi, FVT evm 4TR) TCRY Tone Jesw®
= cécf%ecéo‘ TRY. i
(iv) @525#0 2t PVTO WRoLE Besme 90 T, WHOoTIEmeN BRETS.
(v) "N"O?o;n VPO ow::woa‘ 303, 24,000 =Y wama Sezmo 2 BB YVPIOD.
(2t WTD TWRTIET waed)

-00o0-
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VI Semester B.Com.3 Degree Examination, May - 2019

ECONOMICS
Indian Economics
(RCU Regular)
Time : 3 Hours Max. Marks : 80
Instructions : (1)  All sub-questions should be answered at one place continuously. Quote facts

and figures to support your answer.

AR » DR NWT-ZINTE/T .0 TR VST 2000, WDE ©0d ©oTTeodT
QX VSO, ADREAO.
(2) Answer to all sections should be written in the same answer-book.
DR DGINITY NVIOTIL, .086 VI TIFADY LTS,
SECTION - A/ Qnn - © A
1.  Answer any ten of the following in 2-3 sentences each. 10x2=20

TENT BRJWTESR TS BIAR 2-3 WOFNTY YVIOAD.

(@)

What do you mean by primary sector ?

TOFPNT BOOD ROTTEI ?

Mention two features of developed economy.

@2:;;50&2) BROOT @arwéas:;w TR VTN, TWROR.
Define National Income.

Doe0D FTZRBHI, WITVA.

Dlstmgmsh between GNP and NNP.

GNP 08 NNP S@ad 8393 $93.

Define Density of Populahon

%ITOOTZ B0 QTR

What is the present rate of India’s population growth ?
TS0 HIFO, LYHEIROD TWOB BT HI ?
What is Inclusive growth ?

®OINFI BIYRER 0T ?

Give two defects of Indian Planning.

oU3E odReEINY HTB VITINT), Bol.

Give the meaning of Public Finance.

TOWF BT BOTOAT WPF ZRA.

P.T.O.
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10.

() What do you mean by Budget 2
TOONBHZ, OTWBER ?

(k)  What is inflation ?
©ETRTER DOTTER ?

() When GST introduced in India ?
GST o, HU3TY 03T0w0Nn FVOMRPITVOND ?

SECTION - B/ Qe — W
Answer any three of the following : 3x5=15
3INT Bewn AT TJAVR WIDA.

Explain the structure of the Indian Economy.
503w @ﬁ?‘&i@'}o;o:b AORTHD, WTOA.

Give brief note on the concepts of national income.
Toe0d FHURPI TOIVINY wif LTS ZRRO.

Write a note on sex ratio in India.
O0SRYS DorOTRZ BB 8IS WI0ND.

Describe the general objectives of Indian Plans.
03T OdREHING mrmés doeoire% ezﬁﬁe}&% we3F 0.

What are the causes for the rapid increase in the public expenditure of the central
government ?

3003, ATOFOW TowWF BT ﬁziwcg Sezs ézgeémrie» TONTIRR) 7

SECTION - C/ Qgen — 8
Answer any two of the following.
FNIPYNTY Lend add% SZDAD.

2x15=30

‘India is a developing economy’. Discuss.
‘PR03R) SRHFIZoNY TROTTIRNETT (VPHFQ e oam;;). 323F 0.

What are the effects of growing population on the Indian Economy ?
Aplotcint wrwsm,;w Boed wIH0TY R3YRIROD TOTORINTOR)H) ?
Examine the achievements of Indian Five Year Plans.
gR03T BowmoArs 3ReEING TFINT), TWOdeDA.

Explain the sources of Central Government Revenue.
30T, XFOFTE BWORNT TRONFRY, DWOA.

AR AR
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SECTION -D /Qwen — &
11. Case let: 15

India’s population has grown at the rate of 1.76 percent per annum. India is the
second largest country in terms of population next only to China. The growth of
population has slowed down the rise in PCI. Population policy has not curbed the
growth. India continue to face the problem of population. India has 2.5% of world’s
land area and 17.4% of world’s population.

Questions :
(a) Is population an obstacle to growth ?
(b) What is the position of India in terms of population ?
(c) What are the causes for the slow growth of PCI ?
(d) What is the proportion of world’s population lives in India ?
P&B—aﬁé&“ﬁaﬁ g
ADloTCt) zs“"”oajodm TouFTmoN Be. 1.760 TWORY NS0T, 36T WYY gRTZHe
zsm‘oaiow@ adc&oew cSmaS OoF, 3U9 WOWRIT aqsaain'aﬁ 2523~033033€ 5000,
msﬁom aeeofm BIBO, aﬁvw{éﬁoiam DRRFOT [RRY,. apadsqs) BT,
Nabaodaabq mocbvod,uﬁraoda @u)@@%d o0 Wonds m&)aodocg 2.5% mag
wNET wIHOBoDY Je.17.4 TR, T BRODT.
I :
(@) BFJ3RR maﬂn’o&i’é&‘m wrBBode 7
(b) asas:doﬁéoda m@?\imadg o033 R‘%&d T, 7
(c) BUo WTVBPS dpos=on WPODLN FTTLNTOR)T) ?
(d) NS wIF0W, TBPHTY HUIBY WARTRT TWP[T, ?

-00o0-
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VI Semester B.Com.2/B.Com.3 Degree Examination, May - 2019
COSTING METHODS AND TECHNIQUES - II
(Repeater and RCU Regular)

Time : 3 Hours Max. Marks : 80

Instructions : (1)  Attempt questions according to internal choice in each section.
ZRTTE » FI0IRo DeToNT &03OF c’aign’(wmo’mﬁ DCR gcg/'r@/v’ VIO20,
(2) Working notes must be given wherever necessariy.
OFYIT G TG LTITID, N0,
(3) Use non-programmable calculators only.
TOT-TRRO FF FEYIIOT, WAALNTED SDISIT,

SECTION - A/ Q% — ©
1. Answer any ten of the following : 10x2=20

Bemd ®IE G030A0
(a) Give the meaning of output costing.

T a?ag VERFOD TP oD W 3RRO.
(b) What is by product ? Give two examples.

NWT-NWIT, DOTTERD 7 ATH YIRBIBAY, 3RRD.
(c) Name any 4 undertakings where job costing applies.

DA N P roFod Tz Sodw BFONTIMB T, LVQDAT, BIOXD.

(d) What is operating costing ? :
Rezmo 3% drerod TIPS 0TS 9
(e) What is retention money ?
BRHRT B Q0TI 9
(f)  Name any 4 undertaking where operating costing applies.
R By drerod HE 30 BIoNTOMNS ezl 4 NHTINIT, BRORO.

(8) Give two features of process costing.
HOT FWBIPTT NTH VNI, 5RAO.
(h) State 4 reasons for disagreement in cost and financial profits.
:.?a“svrof_dﬁ TONR BEOTORD TATAY SBNYY Browoeds eﬁ&daaid% 4 FTenII,

YA

(CT]
(@)

) 55 69
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(i)  What is profit reconciliation statement ?
Tz AITOD BEF ROTWIED ?
() What is marginal costing ?
02 W2 VRFON 303, VOWBEH 7
() What is BEP. ?
ReTOF, WO DOTTET 7
()  What is margin of safety ?
U3m0 @0 Q0TI ?

SECTION - B/ Qwen — @
Answer any three of the following : 3x5=15

FINSRNYY Wewnd mcg QUZDAD :

2.  Distinguish between Process and Job Costing.
YOTITS TOIT 3%, Tone VA MR FPS LOSTNI, S9AD.

3.  Shivanand Ltd. disclosed the following information for six months ending 31-12-2018 :

Materials used < 75,000
Wages < 60,000
Factory overhead < 15,000
Administrative overhead % 7,500

Prepare cost sheet of a machine and calculate the price which the company should
quote for the manufacturing a machine requiring materials ¥ 1,250 and wages X 750.
So that the price might yield a profit at 20% on selling price.

B 9NT FeY BRH0ND), SweT0n INEFTTO ST SONW IRTARNT
31-12-2018 § QeRTOST.

VTOSRENAT BT < 75,000
3RO < 60,000
ToSTRF® WY ¥ 15,000
SBYTYT e % 7,500

By, Te3oD), J0IWORO Torke wOW 0NOIIRY, FOIROALY X 1,250 TiY AT,
T750. 309 e3esorda ohoZ@ P BeIoD, AFoH B Hed 20TITZ vy WHHWOIZ
303700 A.

AT OO
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4. From the following information, calculate the amount of profit to be transferred to
Profit and Loss Account in case of contract costing :

Notional Profit < 70,000
Work Certified < 3,50,000
Contract Price < 5,00,000

Contractee pays 90% of work certified.

FH FINS DPLS STTNOT 3R, BIWOT W), COFIH, ©F SF o3

TMOFONRLIBOTOTD SBTT0s *
3

POT o % 70,000
50ROV, BORT TR, % 3,50,000
be%_aﬁo:b 3 < 5,00,000
Boded 90% TR, =508, dTOAVY, TORT, TED TR WRWTVS.

5.  From the following particulars calculate :
(a) P/V ratio
(b) Fixed cost
Iyear :  Sales < 1,30,000 Profit < 6,000
ITyear: Sales % 1,50,000 Profit 10,000

391 3L, WPLSWOT FOLROND :

(a) ©o% [P0 (.9.05030¢) BINTTI

(b) A B2

BDATOBOD W@ : woooosd T 1,30,000 @y T 6,000
DOBFSOD Jae :  =owoeed T 1,50,000 <o T 10,000

6. Chikodi transport company operates 5 buses between Chikodi and Belagavi. The
distance between Chikodi and Belagavi is about 80 kms. The capacity of each bus is
50 passengers. But, on an average the bus runs 20% empty. All the buses run on all the
days of the month November. Each bus makes two round trips each day. Calculate
total passenger kilometres.

23&1%6@ ToONR BOTWAODBI, zsﬁr%e@ BB WD abdé 5 WARRYI, .@x>@90. ?,35@56@
B BYMeany ©o8T 808.0¢. TS WA 50 TOKWEITT TOWBPF TBROOHIH. ST
2, TR0 B, TOIIREITT AUVFF T 20% 0oI0IBN LEST. DY LN JFowo®
oS Ry OINYY LN, TS WA TSOT AT WY TIPS SRWIT. W)
Fo350edBTD FOIPEBAT TRTH, $BRENEITTNFY FOTBEHBOWD.

AR RSO P.T.O.
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SECTION - C/Q¢wn —
Answer any two of the following : 2x15=30
Bewn DTREE, YIDAD :

7. A product passes through two processes namely Process A and B and then to Finished
Stock. The details of each process are as follows :

A B
Input (10,000 units at ¥ 2 per unit) < 20,000 -
Sundry materials (%) 2,000 3,000
Wages () 10,000 16,000
Expenses (%) 2,100 2,375
Actual Output (Units) 9,500 9,100
Normal Loss (% of input) 3% 5%
Scrap value per unit () 0.50 1.00

Prepare Process Accounts, Abnormal Loss and Abnormal Gain accounts.

2,0 AT BT A W B HTE F0FT0 BOSNYOW FoSpoeN JOBT LR AN
BReIT FEoIROW FOATER TOIW VWO A0S

HoxTEd A HoxTeo B
ﬁo%;dt@% E’Ot’&m’o < 20,000 -
(10,000 o303 T 2 T3 00T
2338 RoD R) 2,000 3,000
329 ) 10,000 16,000
238 Fsd ) 2,100 2,375
533 wagd:é (ma%ﬁﬁg) 9,500 9,100
AOTIRT, I (DeRBOD FDedd) 3% 5%
nod @S (Fd o) ) 0.50 1.00

:)“ozjédsa soaémf?\b&, @mmaé TR WB @mwmaié (SRt waa’rie;a’ad BoJwOAD.

A A AR
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8.  Varad construction commenced construction of a building on 1-1-2018. The following
is the expenditure on the contract for ¥ 4,50,000 :

4
Materials issued to contract 76,500
Plant used for contract 22,500
Wages paid 1,21,500
Other expenses paid 7,500

Cash received from contractee ¥ 1,92,000 being 80% of the work certified. Plant which
cost ¥ 4,500 and materials which cost ¥ 3,750 were destroyed at the beginning of the
year.

On 31-12-2018, plant which cost ¥ 3,000 was returned to store, materials costing
T 3,450 were in hand on site and the cost of work uncertified was ¥ 1,500. Charge 15%
depreciation on plant.

Prepare the contract account, contractee’s account and show how the relevant items
appear in the Balance sheet of the contractor.

0T Qe e FOFODWH TR JeRreo FORTRY HTRos 1-1-2018 Cod TRPORFTT.
34,50,0007087 30FE 85 FINT Segricd SNTTS.

T
AoBNT, M8 FORF, IPAT) 76,500
000, THER FOFT, YOTOSRENATY 22,500
300 &8 4 1,21,500
IV DWW 7,500

Mg BeWHIOT TRETOIT FoxdT 80% o3 wow Inwy e T 1,92,000.
34,50023303% 03008 Tonwe 33,750 BSod FTRNWD BRFH BHOHYode TN,
0. 31-12-2018 oz T 3,000 330D ovvlor: Wﬁpfﬁ)ﬁ‘,’ LohdNIooNT. T 3,450 BSod
RoBN MER HnEY AwE:s Tone TRes0IOw o8 T1,500. FBFLODI), 15% 0
008, ZHBTT Hoed JriodFYT.

&R 2008, &R 3RWRT w08 IricD Tore THSRWITS BHEesd TEFONY DT
903N Jen amxammgd aowwm& 30e020.

AR P.T.O.
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9.

Sagar Transport Company runs a tempo of 20 seats capacity between two towns
covering a distance of 20 kms. It makes two round trips in the morning and also in the
evening for all the days of the month. Generally, 80% seats are occupied in morning
trips and full 100% seats in the evening trips.

The other details are given below :

Cost of tempo < 1,80,000
Depreciation 10%

Salary of cleaner ¥ 1,500 p.m.
Diesel consumption 8 km.per litre
Cost of diesel X 40 per litre
Repairs % 4,800 p.a.
Permit fees < 2,400 p.a.
Tax and Insurance % 3,600 p.a.
Oil, grease etc. < 40 per 100 km
Maintenance of tyres and tubes < 1,800 p.m.
Salary of driver % 4,800 p.m.
Sundry expenses ¥ 1,160 p.m.

Calculate cost per passenger km for the month of April, 2018.
TonG ToON oW 20 SATNY L30TVRT, 20 3.80¢. VOITTYTR HTHE IAONY
G, LA, BT DTDLD BNOWIT FTE BN WIH (Round) 37 Tone FOE
B3 ST BN W (Round) $FRYD, $ones up OINTYY VRIS, ATHEIN
000D LRYY 30T 80% BAIN ORI WP ROBOD W MY LoTRT
PR (100%) SFSAD D0VHIH. T A[OND FINT0OSH :

HoBeT SPY,

2RTY

TROWMOTS oW
@Fe” VTWOIRENAT),
BFcer 33

mver]

B3 e VDIATA DY,

3oR @) VB

30 WH) R’

&360‘ rRIAND) mézom# AREBH

2IVOTI FOWS
930 DWFND

% 1,80,000
10%
1,500 B gonen
8 8.00¢. BS De3dR
T40 =8 Ou3dn
34800 © B[RFE
32400 T8 IRFT
T3,600 TS B[RFT,
T 40 B 100 3.c0e.1.
T1,800 B3 &onon
34,800 B& &onen
31,160 B8 sonen

DeeF 2018 Bortont WHEWATOS B ToIREIT 8.40¢. eg, FOWERBOWD.

A OO
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10. Prepare a statement of profit reconciliation from the following data :

3
Net Profit as per cost accounts 30,000
Works overhead charged in cost accounts 5,100
Works overhead charged in financial accounts 4,200
Income Tax provided in financial accounts 9,000
Value of closing stock in cost accounts 2,800
Value of closing stock in financial accounts 3,100
Provision for doubtful debts 3,000
Dividend on Investments not recorded in cost A/C 600
Preliminary expenses written off 1,300
Stores adjustment credited in financial books 150
Share transfer fee credited in financial A/C 600
Depreciation as per cost accounts 1,000
Depreciation as per financial accounts 1,700
Loss on sale of assets shown in financial accounts 1,200
& TINT BHS0WOT TuEE 550:‘%0:’)3 edgi?odaa)“{ 303500A0 :
3

2 ST Tged oeg 30,000
ﬁzi é’ﬁﬁd daecgzgﬁ%’labd DIORDATY 5,100
®ogoAs STRY WeSBNT, FRROATY, 4,200
BETNS SZRY B0 FONONT), 3ReOAT), 9,000
2%, 3T TFeT W0 SN, 2,800
BeFods S, THIO PoSW ey 3,100
iSElenvac oW S IRROITIT Y 3,000
3%, SITY MHOTIOWAT T 20eII 600
SVLOOT) FRBNHOY

TRWE LN a?zgﬂ#abd TRINPYRTONT 1,300
BeoTOAT STRY ToROD BRoRESE ST wHP &8s 150
DERTOID Q%‘FQ Bed) BOFRE e w0 SN 600
?3?;?d eﬁid@q A@TY DDF TITRND 1,000
BETAT SIBY FWIY DWE TosTRNT 1,700

©4 FPR0WT BHACHR), BEOTOAT SFRY ERc0ITNT 1,200

A AR P.T.0.
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SECTION - D/ Q%en — &
Case study (Compulsory) :
TIOLD WFODS (SYoD TF))
11. Calculate from the following particulars :
(i) P/V ratio
(i) B.E.P.
(iii) Sales to earn a profit of ¥ 70,000
(iv) Net profit from sales of X 3,00,000
(

v) Margin of safety
54
Sales 2,00,000
Less Variable Overhead | 1,50,000
Gross Profit 50,000
Less Fixed Overhead 15,000
Net Profit 35,000

FENT AWTMPOW FOWHRBOWO :

(i) CRP-LINT TV

(i) STD-FYNT FIWOTD

(iii) ¥ 70,000 CRPRASHLD HoowBLICTHT [TV
(iv) ¥3,00,000 R0 =S SR VT O
(v) OTgme ©0wd

-4
PVSRISDIN 2,00,000
— WTTHT WERET FY 1,50,000
) Y 50,000
- s&d dzgdﬁvo 15,000
e (@pinl 35,000

-00o0-

A O
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VI Semester B.Com.3 Degree Examination, May - 2019
INCOME TAX - 1I
(RCU Regular/Compulsory)

Time : 3 Hours Max. Marks : 80
Instructions : (1) Attempt all sections according to internal choice.
RIS » G0367 3&1’3/7’9/‘? SRMOET) DR DI GVSOL0.

(2)  Question No. 11 is compulsory.

Tg 11, Foore SFOLT 5E900TNG,
(3)  Simple calculators are allowed.

XOY Torke FOCIRCLATRNNT TR, SVTOLRENTLITBD.
(4) Give working notes wherever iecessary.

@J%’chg? éa’égf‘e”/'f%fn'ig‘, 2)00200.

SECTION - A/Q%wn - @

1.  Answer any ten of the following : 10x2=20

Wewn B TIAIR WO :

(@)

How do you treat dividend received by an individual from foreign company and
co-operative society ?

2, asaépofm NTIEd FOTACNOW ToMe ABTIT ROTHOT ALTOROW URLROTBI),
&S0 30RN e TONBRR0 2

How do you treat dividend received by an individual from domestic company ?
2.2), 33,3000 ARed BOTICNOT FWCEINT TRLROTWR, SO e JONLFAOND 9
Who is a non-working partner ?

TOONE VRFHAT ToCNTTTHORTID 7

P.T.O.
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(d)

(e)

(h)

()

What is book profit ?

RIS COBPHOTBED 9

=]

State the income tax provisions relating to set-off and carry-forward of long term

capital loss.

QEFOFBH LOBTOTT TOVODT), TROTVEE BHWT Tore FNOBAET STHROD
301 QoINS Bewd.

What do you mean by tax free commercial securities ?

307 WOT WedE, PTTO TINTFOBIER 7

What is the rate of tax deducted at source, in case of lottery income ?
D080 BTONTY HWOTY FRSRRVAT Hod 307 ©T CBRFT ?
Who are eligible for deduction u/s 80C ?

300 80C ©R0NY 5@3@ WSO wéz_’:oﬁvada 2

State the treatment of amount spent on “Swachh BHarat Kosh” and “Clean Ganga
Fund”.

% nome G Tone % ¢T3 RN DDF TR TEOWR), Ien RONEERNO 9
How do you treat donation given to Indira Gandhi Memorial Trust ?

QONTD TROH FNWREDODL® AN eWH deséz‘{o:b:nQ Hery TOMEFRR0 2
State the types of Capital gains.

LOBTOY TRLIT TFONYR), TeLO.

How is indexed cost of acquisition calculated ?

SEIEVeNalowy :irazsaéoﬁ :32§d 63563530,‘ e BVIPTRINO 9

IERRATA AR
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SECTION - B/Qwen - w
Answer any three of the following : - 3x5=15
8 IENIPNYY ¥ewcs :p.red%é YUSORD.

2. Explain the provisions of the Income Tax Act 1961 in respect of the following payments.
Which are allowable as deduction (any two) :

STRoD 307 TR 1961 T w@ROHY B IFNIZYNER Rowood TRAT TN IRSRRVILD
QOVTRTJINGI), VWOAD (WFeTW HTHFI) :
(@) Medical insurance premium u/s 80D.
300 80D o #Tseod DB/ FOB.
(b) Deduction for interest on higher education u/s 80E.
500 B0E oD 9VI 3 dgred Amed @heds W@ 3@,
() Maintenance and medical treatment of a handicapped dependent u/s 80DD.
300 80DD 0 ©TOONT DFOEIIT FIBeod 383 Tore VRFHES.

3 From the following details of Mr. Anand, Compute his income from other sources for
the assessment year 2018-2019 :

T0030® WwE 2018-2019 8 B. YTOBTD B3 YR BT AWCHB $R0T WedS, BIT
BRODOT OB BTN, STT0.
(a) Family pension ¥ 48,000
FoL00WT 0238 T 48,000
(b) Winnings from lottery (Net) ¥ 70,000
SoL300N0T ﬁd@"o (dg¢) 70,000
(c) Royalty income X 32,800
To0RY, Sweod I 32,800
(d) Income from agriculture in Sri Lanka ¥ 40,000
Seoote Te3BY0D Fa oD T 40,000
(e) Directors fees ¥ 12,000
QTFeTIT BY, T 12,000

AT P.T.O.
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4.

From the following information, compute Capital gain of Miss Pooja for the assessment
year 2018 - 2019.

Particulars Jewellery
Year of purchase 1995-96
Year of sale 2017-18
Cost of purchase 1,00,000
Fair market value as on 01.04.2001 1,50,000
Selling expenses 10,000

Miss Pooja has purchased a residential house costing X 5,20,000 within the specified
period.

The cost inflation index for the years 2001-2002 and 2017-2018 were 100 and 272
respectively. He was not owing any other residential house on the date of Sale.

. TR VRD 3 YN BT TRHS0N0I, BoVITHE IRE 2018-2019%‘9 WOBRWOYT
LB, eﬁ%m-&b.

Mo} 23009

00D JRF 1995-96
WIRTOWT TWWF 2017-18
DOeHOD ﬁzg 1,00,000

DTo0oT 01.04.20018‘5 o&.raﬁ’ﬂ:S Wadaﬁéé @3 1,50,000
WV 332:371«:0 10,000

TR IR ANOT LVRODY TAZT I, T5,20,0008 DOeHATT. @3¢

Ore R@wR08 Wy BRE 2001-2002 wH3, 2017-2018 3, wFFRTN 100 3y 272

BT, TR DTDOTBOT ABW OIRFTE AR FBODRY, BROODH)DY.

S

o3

AT O
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5. From the following particulars of income of Mr. Basavaraj, compute his gross total
income for the assessment year 2018-2019 :

3
Income from house property - I 22,000
Loss from house property - II 8,000
Loss in cloth business 4,000
Profit from speculation business 80,000
Long term capital gain 9,000
Long term capital loss 21,000
Short term capital loss 5,000

3¢ R[OOI B3 YN JeRT BTCHNY DTTFHOD SO, TULFTH IR 2018-20198,
BT 2utD), BWOONT/I), SFHIO

g

BRTOIE I SRAOWOT OB Bwood 22,000

ROBIC DOFOD ToR 8,000
2t BRBITT T 4,000
RER) mémd&)od IR O 80,000
DeTRF R WOBTOTT Uy 9,000
DTN WORBDIPH Tow 21,000

VIR WORWTT TR 5,000

(AT P.T.O.
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6.  The profit and loss Account of a partnership firm for the previous year ending on
31.03.2018 is as under :

To Interest on Capital By Gross Profit b/ d 3,10,000
at 12% p.a. 12,000
To Expenses 68,000

To Remuneration to working partners 1,65,000

To Depreciation 30,000
To Net Profit 35,600
3,10,000 3,10,000

Note : Depreciation allowable as per Rules is ¥ 20,000.

Compute the total income of the firm for the assessment year 2018-2019 assuming that
the firm satisfies all the conditions of section 184 and 40(b).

31.03.2018 T Swo0d WRE WNTYODE, WOW TLVTROF xo%w UL -Tod OO0 T3

FYNT0ST :

WOBYT WEOT Al FBNOTNRTI 283 ©Y 3,10,000
TS JRE Je. 120RY, 12,000

dzgﬂ@e'o 68,000

FOONF VTS TOCNTROSN AOLRI™ 1,65,000

ARTY 30,000

Zba‘%%ﬂ (OptA | 35,000

3,10,000 3,10,000
B3 : BTEoDd 30K TIRIT Tped ANVFY ©F) T 20,000.

ROZOD 3O 184 ) 40(b) N¥ FTRAYT, VRTRT 20T DA, FTTVR IRF
2018-20196é TOOMOF :;’oﬂ@cm 2083, smo\baﬂab% BORLBOND.

[ANEER NPT
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SECTION - C / Qgon — 3
Answer any two of the following : 2x15=30
33 3INT BeHTW TREE, LWFOR0.

7.  From the following particulars of Mr. Kiranakumar, compute his total income for the
assessment year 2018-2019.

8¢ STRRTRTD 83 9N VWOAT R[0dS0N STTR eSS FooITH RRE 2018-2019%,
2:63), BTRONTW, FOWIHROWD.
(a) Income from business (computed) ¥ 53,000

BRTOROW WOT SHeeD (SFzsT) T 53,000
(b) Income from house property (computed) T 20,000

T GHN0T 20T BWOD (SZTEH) T 20,000
(c) Interest on government securities I 5,000

AOT0 BT TIRY edI wa T 5,000
(d) Capital gains : Short term ¥ 15,000

Long term ¥ 15,000

WOTBROST RPN : e:wgwcp < 15,000
QesForxnd T 15,000

(e) Winnings from lotteries (Gross) ¥ 30,000
(Cost of tickets ¥ 1000)

CoDOWOT WOTW HTwOD (at3) X 30,000
(083D t3dees® d?fg’j < 1000)
(f) Dividends and interest (Gross) :

TOLIVOT TN W& ()

(i) Dividend from foreign company ¥ 10,000
NTEH FOJAOH @03 T 10,000

(ii) Interest on bank fixed deposits ¥ 6,000
083 BTI Besed BedI 2 T 6,000

(iii) Interest on deposits with Binny Mills Ltd. ¥ 5,000
2, D' O. FoBAGH Beased Foedy & 5,000

(TR i P.T.0.
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He made the following payments :

8533 TRT VRFDY, H[PRT FOWIOIND :

(1) Life insurance premium I 5,000
(policy amount ¥ 1,25,000)
2w D@ OB (@A #weg X 1,25,000) 5,000

(2) Subscription to public provident fund X 4,000
TORFHIT PARST QN 08T, X 4,000

(3) Deposits in 15 years Post Office CTD Account ¥ 2,000
15 IRFNY @023 3e3edoD R.83.8. o3 Bexed T 2,000

(4) Donation to an approved institution ¥ 20,000
BRJZ DR ,’v‘o;‘o; i ceedrt 20,000

(5) Medical treatment of dependent person with disability ¥ 28,000
NFOBESBT VROV FIoH FTseod 88 T 28,000

8. X, Y and Z are the partners in a firm sharing profits and losses in the ratio of 2: 2 : 1.
The profit and loss account of the firm for the year ending 31.03.2018 is as follows :

To General Expenses 1,52,000 By Gross Profit 4,00,000
To Interest on capitals
at 14%

X 14,000

Y 8,400

Z 5,600
To Salary to Y 1,20,000
To Commission to Z 60,000
To Rent to Z 24,000
To Net Profit 16,000

4,00,000 4,00,000

Y and Z are the working partners.

Compute the total income of the firm and the taxable income of the three partners in
the firm.

(R
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X, Y 30 Z 2,0 HoF oD FOMRTOT, 2:2: 1 9HTRITY wogg DB TOICDI)
5025&@%‘«2&@)6. 31.03.2018§ FNTODTITOT waira; VP -ToN o8 B BYNT08T -

mmaa’é a'iazidﬁ#o 1,52,000 MY oL 4,00,000
WOBPNE eI W&
(3e. 14 o)

X 14,000

Y 8,400

Z 5,600
Y7 @33 1,20,000
VAN AV 60,000
Zn woan 24,000
Bajﬂ SptAS 16,000

4,00,000 74,00,000

Y Tone Z 500003 mmmdoaﬂdyagé.

TR0 xoimob 2t3) @maﬁwab& 5:533_39 RRRT 301N YT eﬁc,vaodya’@ﬁl TOTDSROND.

9. From the following information, compute the capital gains of Shri Nandakumar for
the assessment year 2018-2019 :

Particulars House - I House - II
Date of purchase May 1997 | December 2000
Cost of Acquisition 1,90,000 2,50,000
Cost of improvement in the year 2000 10,000 25,000
Fair market value on 01.04.2001 1,75,000 3,50,000
Cost of further improvement in 2014-2015 48,000 72,000
Sale proceeds of property in 2017-2018 6,34,700 10,88,600

Cost inflation index for the financial year 2001-2002, 2014-15 and 2017-18 were
100, 240 and 272 respectively.

(RO P.T.O.
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5¢ FOTREFOD & IYN AeRT RS YOO TOFTH WRF 2018-20198 woBwY

SORTITRY, FOTERRCWO :

10

BALve] D3 -1 =8 - 11
D0l dT00T e 1997 &%owo 2000
DR B[ 1,90,000 2,50,000
SRe 2000 g9 ogeos B} 10,000 25,000
01.04.2001 éﬁ o&rar% madaﬁé% EALO) 1,75,000 3,50,000
2014-2015 ol) abé pslovpletss dzi 48,000 72,000
2017-2018 B9 =T TRVWT R 6,34,700 10,88,600

©8¢ TRTLOW ﬁ?% :imsaéo?saé) 2083 : 2001-2002 % 100, 2014-15 gﬁ 240 == 2017-2018 %
3

10. From the following incomes received by Mr. Veeresh for the previous year ended
31.03.2018, compute his income from other sources :

31.03.2018 3 BOTONRRNT SHFT IRFTY de DTEID, T FIINT STLOONRII),
sjdadoegﬁ. ZB3AN 930 BRONYOT WOT Bmodoaiabd FOBERRBOWD.

(1) Directors fees from a company I 20,000
FO0TROD JdTFe3zT e T 20,000

(2) Interest on bank term deposits I 3,000
mso&?d RO Jewed 2@ 33,000

(3) Income from undisclosed sources I 24,000
BIVRIT TROT STOH X 24,000

(4) Winnings from lotteries (Net) ¥ 28,000

RLD0N0T 0T ébw;# Socd T 28,000

VRTINS R
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(7)

©)

(10)

(11)
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Royalty on a book written by him ¥ 8,000

TORF WITFF To0DY, &weod 8,000

By giving lectures in functions ¥ 5,000

TOORFIRNYY NWTIF JeRTTYN 0T SwWeod < 5,000
Interest on loan given t.o a relative ¥ 4,000

ROWORTON JeRT oW edT wg T4,000

Interest on tax-free debentures of a company (Net) (listed) T 10,800
FOBWROD BO7t =03 BLW0WTNY 0edT W& (Vw¥) 310,800
Dividend from co-operative society ¥ 16,000

AHTO AOFTW ©oKo3d T 16,000

Interes£ on Post-office SB A/c X 1,000

©028 FH 00D YwYzHoD ZoH HedT W@ T 1,000
Interest on Central Govt. Securities ¥ 4,400

60T, AVTTT RTFI0H #edS 2§ T 4,400

He paid 200 for collection of dividend and ¥ 1,000 for typing of the manuscript
of the book written by him.

QB3 ©UogR03 36%&@%@ HoTRoD HPRW T 2000 T WIT TWRIT

e%déboﬂ daa 1,000 eﬁdagd.

AV ORI P.T.0.
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SECTION - D/ — &
Case study (compulsory) 1x15=15
W LPONT — Fwgod T,
11. The gross total income of Mr. Nagaraj was < 5,10,000 for the previous year ending
31.03.2018 and the following are the donations made by him :
31.03.2018 3, B0TLODTLWNE STO0H TRET S¢ TNMUKET 2.6, BWoDY I 5,10,000
QDT WD B3 FYNT BEBNTY, JeRWT :
(a) Donation to Jawaharlal Memorial Fund X 20,000
RIOBOOOI® B N wesdnn T 20,000
(b) Donation to corporation of minority community I 20,000.
®Y oIV JNF, Teedni T 20,000
(c) Donation to a municipality for promoting family planning ¥ 30,000
00 odresnon INSRPNR Beedn T 30,000
(d) Donation to Vrishabhendra Charitable trust (approved) ¥ 10,000
4 BmedeoT B ROFR Teed (VRFYIF Bp0BT) T10,000
(e) Book donated to an approved college X 5,000
abaaiéé RS sodedt noEny Kedn T 5,000
The gross total income of Mr. Nagaraj includes long term capital gain X 10,000.
JoMODLTHT 2t HW0NTY WOBWIPT Toze0d I 10,000 ﬁegcéodmﬁd.
Case study :
TFOro VDT :
The assessee seeks your advise on the computation of deduction allowable under
section 80G in the above case and also your suggestions for donations from which

maximum amount of deduction can be claimed from the gross total income. (Give any
five examples of such donations).

300 80G ¥BcDY 3RTY Sy TOITLY IWOW FOTBOD), SORwSI 30T,
ReOTPRFYTe ed-eded odm TNy, VeRTT MO TRIJIY, wid), STRODTY
TFFHOWTR, BEYO V) YOIH CIRFWITTR T TBEBRNT), BHOR.

-00o0-

(AT
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VI Semester B.Com.3 Degree Examination, May - 2019

GOODS AND SERVICES TAX - II
(Regular)

Time : 3 Hours Maximum. Marks : 80

Instructions : (1) Attempt all Sections according to internal choice.
WSk : $030% $oNTFOT DNRNYI, LWIORD.
(2) Use of simple non-programmable calculators are allowed.
AT¢ B FoodeeBRTONT nEoTE, LVTOSRCN LTI,
(3) Section - D (Case Study) is compulsory.
degert — B (TFTre VFODT) FwWOD.

SECTION - A
SATATT S ;
1.  Answer any TEN of the following : 10x2=20

3500 T, YVIDAD :
(a) What are exempted supplies ?

DTNS BRTBBNFOTTED ?
(b) What is lower rate of tax for food and health ?

$TT DB edraer%qﬁ R 301 TV Q0W3ED 2
(c) What is value of supply ?

BRYFOH FPY, 20TBed 7
(d) How is GST levied on imported goods ?

BT TIRT ITING e B.05°.83. Ben at:aﬁgcéagd 9
() What is Open Market Value ?

BOT BWRNTE, WP, DOTIeH ?
(f) What is Credit Note ?

WO éswwté ROTTED 7

P10,
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(g) Whatis bill of supply ?
TBRGFoD LS Wy Q0TTe ?
(h) State any two features of Tax Invoice.
307t RO TeIoH QTR VLAY, BEVO.
(i)  What is returns ?
DBTF QOTTER ?
() What are the ledgers to be maintained by tax payers in GST ?
23.90%°.83.00¢ 3071 TOHITT ‘VIF LAEETOH 098 TDFINWL SRR ?
(k)  What is refund ?
WTTRE DOTTED ?
(I) Expand ‘CPIN’ and ‘CIN'.

R.8.808°.0°." BB XS .QF. B DTNID, PFOA0
SECTION - B
PN — W
Answer any THREE of the following : 3x5=15

23CTOT T gi‘{{@ﬁ em:_ép%:@ :
2 State the GST structure rates with two items in each schedule.
TS ODERWODY TR B[RMFOZ 28.0%°.83. TIIHON BID, Tewo.

3.  Mr. Anand is an air travel agent. From the following information, compute the value

of supply of services and GST @ 18%.

Particulars Basic fare
®)
(a) Domestic travel 1,00,000
(b) International travel 4,00,000

8¢ BIOTTIP DBPIIRT DEOWTHNTRY. & TIN WS BpHE0D ST
oed BT FQATT AeNY WP, TP Je. 180 BOTY 28.077.83.00F, TOWLROWD.
QIO RO BT
®)
(a) Tedod TR 1,00,000
(b) @0303%6053 TR 4,00,000

AR BA AL
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4. Abhinandan Ltd.,, Gadag purchased goods for ¥ 90,000 and sold goods for ¥ 1,20,000
to Nagesh Ltd., Haveri. GST rate on purchase is @ 12% and on sale is 18% :

Compute output tax, input tax credit and balance of GST payable.

PRIOTI 9., NBR BB T 90,000 A9 DOHIT ATRNYD, Doned O., Tos3eoTHOR
< 1,20,000 n®R  =ooo0s m@da@gd. B.A.L. TO DOCOOD zHeed Be. 12 ab:a'_o‘
DRTIT :ee3 Be. 18 d@w %dagd

B S0, EeuEse 304 wsed THa) TP TORVIRGTHSS 23,043,003, 30T BB,

5. What are the features of payment process ?

RS FIoHOH ©FreRTeRT) 9

6.  What are the documents required to claim refund ?

D RS WBoDen AORBeToD WDBRLD oSoEw) ?

SECTION - C
RN — 3
Answer any TWO of the following : 2x15=30
e300 A0S, VIDAD :
7.  Write short notes on :

& ENIYnen 833068 20BOWD :
(a) Zero rated Supply

DBR YT BT Ted?
(b) Nil-rated Supply

fuaﬁcl @3 wWRYE
() Non-taxable Supply

301 QRTINS m&eﬁ

AR OO P.T.O.
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10.

Ishwar Ltd., of Hubli sold a product to Banashankari Ltd., Bengaluru for ¥ 4,48,000
(including 12% GST). The above selling price is not included the following :

(a) Normal Secondary packing cost ¥ 21,000

(b) Cost of special packing ¥ 15,000

(c) Durable and returnable packing cost ¥ 10,000

(d) Freight charges X 7,000

(e) Insurance charges ¥ 3,000

(f) Trade discount (Normal practice) ¥ 22,000

Compute transaction value and amount of GST payable.

30 9., BDWICHID WIFosO 9. Soriehedd aBOr 12% 28.0%°.8. WT wINROBOS
¥ 4,48,000 900083 23S0 wOTH WROWEY, WUV FWRBTT.

DT Wooooes 363 s«ms-@ﬁm WIROBROY :

(a) =oRT, VPNT NOLD FEHHT PFeg 21,000

(b) DBew Mowd TERDIOD ﬁag? 15,000

(c) 9T WNT R LHoODAZLI TN oD 6&3&&)3053 ﬁz'i Z10,000

(d) @R 523 7,000

(e) &/ [y 3,000

(f) =m0 Aped (RWT, GwUH) I 22,000

BRVTOOS BPOWI, 3B TOWSRWITT 830743 BRITD, TOBWHICNO.

Briefly explain the types of returns.
NG TVFOOHY DTN, HOFTTN HIORD.

Write short notes on :
83 BINIRYNON 3T LTOW0 :
(a) Excess payment of tax due to mistake or inadvertence.
37 WPD VN BTONLOT B Se0nt TOBSITONT,
(b) Refund during investigations, where no or lesser actual liability arises.
3DFoD BTOTRRY FONT 03w NOTFFIY IR W), IRP)Te BRFTMOOF
QUWROY.
(c) Refund due to year end or volume based discount by credit note.
WD ©o3TY WTORBS0ITPNLICTOE WPwo WOWIED STOOZ AR LT[
33063.

(AR TR
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SECTION - D
PN — @
Case Study (Compulsory) : 1x15=15

11.  The following goods procured by Shivayogi Ltd., in the month of March, 2019 :

()

Goods used in the construction of office building ¥ 60,000.
Packing materials used in the factory ¥ 5,000.
Goods destroyed due to natural calamities ¥ 15,000.

Goods used for repairing the office building and cost of such repairs are debited
to profit and loss account ¥ 12,000.

Paper for photo copying machine used in administrative office Z 2,000.
Goods given as gift ¥ 25,000.

Trucks used for transportation of inputs in the factory ¥ 3,32,500.
Outdoor Catering Services provided to the employees ¥ 50,000.

Inputs used for testing the quality control work ¥ 18,000.

Goods purchased without invoice ¥ 40,000.

From the above information ;

(i)  Compute total amount of mput tax credit available.

(i) Comment on admissible and inadmissible ITC items.

TFOL VFOHT (Swyod T3 :

2019 =3 donvy 2madeen . TR TBDERRORB ZOBRY WPV T IPNJ03
QI :

()
(b)
()
(d)

FODFOODT 3B BHRY WIATHT BRI T 60,000,

=

Toa0RF J0NY WFIT Hoed FEDT WAL T 5,000.

SANFT DBRETNLOT Hovom FTHAR T 15,000.

BeIe0 TEIWRD), TR TRBFD WHIT BRAD D) <o3-ToR L3R D
TOTTRT €3 TR 625?12,000.

YRPZ Fee00NY Pocwp Tz o&ogﬁgﬁ WPAT TN T 2,000.
WEWRRTCITN BT FTBRL T 25,000.

FTREIONY $B0308[ON TOATLN VYIS ©p0nW T 3,32,500.

masémraorie:od wdroémrwrﬁ VBT L@WR FewSngd T 50,000.

AT MR P.T.O.
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(i) MoedRE oo tsao:braabﬁ1 ajt:»egﬁ@o WERTRT IOITHNL T 18,000.
() =U® Ty ARB DOeOJT FTHred T 40,000.

20T BIP&HSN0T :

() TBRWIP 307 wX BROVT ety B[, FOBLRCND.

(i)  RLTITIHE T ACTOTIBF WYW BRITY 30N wDOD FWNY w7} DEIF
=0R0.

-00o0-

(ATERRBRRMERAA RO
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VI Semester B.Com.2/B.Com.3 Degree Examination, May - 2019
COMPUTER APPLICATION IN BUSINESS - V

(Regular and Repeater)

Time : 3 Hours Max. Marks : 80

Instructions : (1) All questions are compulsory, subject to internal choice.

(2) Section D is compulsory.
SECTION - A
Answer any ten questions, each carries 2 marks. 2x10=20

1.  What is Book Keeping ?

2.  What is compound journal entry ?

3.  Write the use of tally vault password.

4.  Write the function keys used for receipt and journal voucher.
5.  What do you mean by group in tally ? Give example.

6.  Write the steps to create godowns.

7.  What is cost centre ?

8.  What is bank reconciliation statement ?

9.  What is Balance Sheet ?

10. Expand MIDI and BMP.

P.T.O.
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(2) Section D is compulsory.
SECTION - A

Answer any ten questions, each carries 2 marks. 2x10=20

1.  What is Book Keeping ?

2.  What is compound journal entry ?

3.  Write the use of tally vault password.

4.  Write the function keys used for receipt and journal voucher.
5.  What do you mean by group in tally ? Give example.

6.  Write the steps to create godowns.

7.  What is cost centre ?

8.  What is bank reconciliation statement ?

9.  What is Balance Sheet ?

10. Expand MIDI and BMP.
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11. Mention the uses of LCD projector.

12. List any two media player softwares.

SECTION - B

Answer any three questions, each carries 5 marks. 3x5=15
13. List the advantages of accounting.

14. Explain any 5 options of company information menu in tally.

15. Write the steps to create and aller units of measure in tally.

16. What is day book ? Write the steps to display day book with its sample diagram.

17. Explain image capturing and image printing.

SECTION - C

Answer any two of the following questions, each carries 15 marks. 2x15=30
18. What is CAIS ? Explain the merits and demerits of CAIS.
' 19. Explain in detail the gateway of tally window with its neat diagram.

20. What is Multimedia ? Discuss in detail the hardware and software requirements for

multimedia system.

21. Write short note on :
(a) Inventory vouchers
(b) Purchase order processing in tally

(c) Home shopping

(ARG ARRTRSRRAART AR
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SECTION - D
Case Study (Compulsory) 1x15=15

22. Mr. Pratham and Mrs. Rashmi Partners commenced business on 15 April 2016.
Journalise the below transaction in tabular form to identify groups, ledger and voucher.
1-4-2016 Mr. Pratham invested in business worth I 2,00,000
1-4-2016 Mrs. Rashmi invested in business worth ¥ 1,50,000
2-4-2016 Purchased Land worth ¥ 65,000
2-4-2016 Deposited X 2,50,000 at SBI
2-4-2016 Mr. Pratham withdrew ¥ 10,000 for office expenses from bank account
3-4-2016 Purchased plant and machinery for ¥ 2,00,000
5-4-2016 Purchased goods ¥ 20,000 from Tejus on credit
6-4-2016 Sold goods ¥ 12,000 to Trupti for cash
7-4-2016 Received cash ¥ 5,000 from Tejus on account
8-4-2016 Paid cheque ¥ 10,000 towards electricity connection advance

-00o0-

AR OO A AT
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3-4-2016 Purchased plant and machinery for ¥ 2,00,000
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